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NUO052 |55 B BiI| 10,900 | 60% 63% 12,900 | 56% —— 112,900 | 12,900
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B E (P ER) =48 (FRE) | & & = (P&R) %[ _NU251 |55ERI| 19,200 | 50% 53% |%+:22,000 23700 | 42% |&+£:25600 — 123,700 | 23,700
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NU557 |55 E1Ai| 2,900 | 83% 84% 12,500 | 33% 12,500 | 12,500 | 12,500
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RAC801 36% 45881 ,000 7 00 | 11,000 00 | 11,000
NU557 36% 45881 000 7 00 | 11,000 00 | 11,000
NU559 36% 45881 000 7 .200 000 | 11,200 000
NU563 58% 45881 | 7.20 59% 7400 | 7.200 | 7.400 | 7.20
NU567 58% 45881 | 7.20 59% 7.40 7.20 7.40 7.20
NU569 | 28] 58% 456 1_| 7.20 59% 7.400 | 7.200 | 7.400 | 7.20
NU57 58% 45881 | 7.20 59% 7.40 7.20 7.40 7.20
NUS57: 58% 45E 1| 7.20 59% 7.400 | 7200 | 7.400 | 7.20
B NUSS! 36% 4581 | 11,000 | 37% 11,200 | 11,000 | 11,200 | 11.000
NU556 | 28k 36% 4581 | 11,000 | 37% 11,200 | 11,000 | 11,200 | 11.000
NU558 58% 45E81 | 7.200 | 59% 7.400 | 7200 | 7.400 | 7.200
NU560 58% 45881 | 7.200 | 59% 7.400 | 7.200 | 7.400 | 7.200
NU564 36% 45881 000 7 .200 | 11,000 00 | 11,000
NU566 36% 45881 ,000 7 1200 | 11,000 00 | 11,000
NU568 36% 458 Bl .000 7
NU570 36% 45881 ,000 7
NU572 58% 45HBEI | 7.200 594
RAC804 | 28] 58% 45881 | 7.200 | 59%
BE=HRE EEHH RAC831 25% 451 — —
RAC833 25% 45881 | — —
RAC837 25% 45881
RIEH RAC 25% 45 H Al
RAC 25% 45881
RAC! 25% 45 Bil
(B =AKE 8 (3ER) % |_RACST 36% 45 B8
RAC87: 36% 45 B Bl
RAC875 36% 45881 | — —
NU211 36% 45881
RAC877 36% 45881
RAC881_| 36% 45881 | — —
AREH RACST. 36% 458181
RAC87: 36% 45881
RAC87! 36% 45881 | — —
NU212 36% 45881
RAC878 36% 45881
RAC870 36% 45881
RAC882 36% 45881
RE=51E REH NU961 0% 45181
RAC807 [ _40% [XJk.2 HIEf 451/
EMEFE |_NU962 0% 45881 | — —
RAC806 0% [ KIK.2 BB 451 A
(BB =53 PR (R F [_RAC8I5 b 45E Al
RAC817 2588 | — p—
5% RACS81 45881
RAC81 45881
R P|) =|EEKXE | HEGRT) X | RACS53 | 45 E Bl — —
BERER RAC85. 4511
PR (BP|) =M AR Sh#BCGIRER) % [ _RAC861 | 45E Bl
RAC867 45881
MARE | RACS62 | T T
RAC868 45881
SRR () =L KR Fh#E(IBFR) F | _RACB47 45 H Al
RAC84: 45881 | — —
BAR=ILXR RSt RACB3! 45E Al
RAC83! 45881
BEE=%RM Eh% | _RAC891 | 28] 588 | — —
RAC897 5 B Al
ZRM% [ RAC892 | 28] 5B il
RAC898 5 B Al
R (R =5 BE P8 (BRE) % | RACB89 40% [ X IK.2 BB 5 B il
SRER RAC880 | 281 40% Kok B R A5ERT | — —
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BEBAA 2012/5/12 _ ~
9/10-14. 9/18-21. 9/23-30 5/ 9/T6 5/22
=n B - 17A 5 — 3478 94;;« 94;5 M:E
BAME AR EEE 3= & EH EEE EEE
HRCHE) =9 GRE) PR GIRER) U 28H R | B [ 17,900 | 56% | H:17.500 100 17,900 17,900
u 28 B A | 500 | 55% |H:20500 300 18,800 18,500
K (BIEE) =i GRER) KB (B978) % U 28EBI | 300 100 15,000 16,500
u 28 B8 | 300 500 13,000 14,500
u 28 B8 | 300 000 15,000 14,000
R u 28 B8 | 300 000 13,000 13,000
[ il 300 000 13,000 13,000
[ l 300 000 18,000 17.000
il 300 000 18,000 17.500
1aR =4 (IR ¥R) EEE [ NU051 | 28EET | 500 1400 13,500 14,500
[ NU053 | 28EAI | 100 000 12,500 13,500
[ NU057 | 28EAI | 500 000 11,500 11,500
[ NUO6T | 28EAI | >113,600, H:13,000 500 000 12,500 11,500
[ NU063 | 28EAI | >113,600, H:13,000 500 000 12,500 11,500
U065 | 28EAI | +12,600 500 | 58% 5:12.100 000 12,100 [ 11,500
SPREGRE % | _NUOS0 | 28BIET | +£:13.600. B:14400 500 | 58% |%+:13,100, H:13900 300 13,900 [ 13,100
[_NUO52 | 28EAI | 500 | 58% 000 11,500 [ 11,500
[ NUO54 | 28EAI | 500 | 58% 000 12,100 [ 11,500
[ NUO56 | 28EAI | 114,100, H:15,000 500 | 58% 000 12,100 [ 11,500
U060 | 28ERI | 15,000 500 | 55% |% H:14.500 000 14,500 [ 13, 12,500
U062 | 28ERI | 500 | 51% |%H:15500 000 15,500 15,900 | 14,000 | 13,500
R CAE) =RE HR CHE) % U071 | 28AE] | 28,100 | 53% |21:28.600 400 28,100 26,700 | 28,700 | 28,600
BER U070 | 288 22600 | 62% | _ 100 22,000 26,300 | 22700 | 22,600
U078 | 28EAI | 26,500 | _55% | H:27.300 400 26,600 26,600 |_26.500
RRCAE)=8% WRCAE)F | NU021 | 28BIRT | 25200 | _55% |£1:29.200 400 27,500 27,500 | 20,300 | 29,200
U023 | 28R | 2400 | _60% % T:23,500 400 23,900 23,000 | 23600 | 23,500
LR U022 | 28ERI | 26,400 3300 | 58% | H:26,300 200 26,300 23,500
KR (@) =RE Kl () % U083 | 28Rl | £:21.000, £:19,000 7500 | _64% |%:20,500, E:18,500 500 17.500 18,500
BE U084 | 28R | 6500 | 66% | H:19,50 100 19,500 17.100
AR (BEE) ==& KBz (B978) 5 U095 | 28HAI | 9,700 | 58% [£1:22.200 ,000 19,700 22,200
EH U098 | 28EAI | 9700 | 58% | H:22.200 800 22,200 | 32 19,700
REE (P =—RE | AEE(PEE | NUIT3 | 28H — p— p— p—
B% U176 | 28EAI | —
AN = (BB R) NR U037 | 28HBI | — p— pu—
FIEEES U036 | 28EAI | — — —
ZEE(PH) =R TH) | BEE(PEF | NU5T | 28HAT | 9,200 19,200 22,200
[ NU253 | 2881 9,200 19,200 22,200
[ NU255 | 28EAI | 7,800 17.800 18,100
U257 | 28EAI | 5,800 15,800 17.500
SRHE (R [ NU252 | 28E1RT | 5,800 17,500 15,800
[ NU254 | 28EIAI | 8,700 21,200 21,500 18,700
[NU176 | 28EAI | _ — — — —
[ NU256 | 28EAI | 121,700, £:19.200, H:23.700 20,700 23,200 23,500 18,700
U258 | 28R | 21.200 1.700. £:19.200, B:23,700 20,700 23,200 23,500 18,700
L = 4% (AR RR) LI uoil | 288 18.400 21,400 17,400 17,400 17,400
S GGRE) % U016 | 28FAT | 18400 1.400 17,400 21,400 | 20400 | 30500 | —
HEEH =aE SP#E(IEH % | _NUG0I | 28BAT | 8,600 8,200 8600 | 8200 | 8,600
[ NU603 | 28EIAT | 8,600 8,200 8600 | 8200 | 8600
[ NU605 | 28EI&T | 12.800 12,400 | 12,800 | 12,400 | 12.800
[ NU609 | 28EIAI | 8,600 200 8600 | 8200 | 8,600
U613 | 28EAT | 8,600 200 8,600 8,600
U615 | 28EAT | 8,600 200 8,600 8,600
[ NU619 | 28EIAT | 8,600 200 8,600 8,600
[ NU621 | 28EIAI | 8,600 200 8,600 8,600
U625 | 28EIAI | 8,600 200 8,600 8,600
BER U070 | 28EAT | 8,600 200 8,600 8,600
[ NU604 | 28EIAT | 8,600 200 8,600 8,600
[ NU606 | 28EIAI | 8,600 200 8,600 8,600
[ NU608 | 28EIAT | 8,500 100 8,500 8,500
U612 | 28HIAI | 8500 100 ) 8,500 8,500
U614 | 28EIRI | 12,400 | _46% 12,800 | 12,400 | 12.800 12,800
| NUi76 | 28EIRT | = — — | — | — L —
[ NUOs4 | 28EIAI | 46% 800 12,400 12,400 12,400
[ NU620 | 28EIAI | 46% 900 12,500 12,500 12,500
[ NU622 | 28EAI | 46% 900 12,500 12,500 12,500
[_NU078 | 28EIAI | 46% 800 12,400 12,400 12,400
U628 | 28EIAI | 63% 65% 8,500 8,100 8,100 8,100
PR GIRE) ==H PR GIRER) Uss1 | 28HAI | 36% 7 .200 11,000 11,000 11,000
l 36% 7 200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11.200 | 11,000
il 36% 7 200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11.200 | 11,000
| 36% 7 200 | 11,000 | 11,200 | 11,000 | 11,200 | 11,000 | 11.200 | 11,000
il 58% 59% 7.400 7400 | 7.200 | 7.400 | 7.200 | 7400 | 7.200
l 58% 258 59% 7,400 7,400 7,400 7,400
il 58% 258 59% 7400 7400 7400 7,400
l 58% 258 59% 7,400 7,400 7,400 7,400
l 58% 258 59% 7400 | 7200 | 7.400 7,400 7400 | 7.200
B il 36% 458 37% 11,200 | 11,000 | 11,200 11,200 11,200
| 36% 258 37% 11,200 | 11,000 | 11,200 11.200 11.200
| 58% 258 59% 7.400 7400 7400 7400
l 58% 258 59% 7400 7400 | 7.200 | 7.400 | 7.200 | 7400 | 7.200
l 36% 258 7 200 11.200 11.200 11,200
36% 258 7 200
36% 258 7 200
36% 258 7 200
58% 258 59% 7400
l 58% 258 59% 7.400
BE=AE B 25% 458 — 500
25% 258 — [ — 500
25% 258 — [ — 500
BEFE [ 25% 258 — [ — 500
RAC834 | 25% 258 — [ — 500
RACH 28 25% 258 — [ — 500
PHE(GIRER) =AKE PHGBE % | RAC 28 36% 458 — [ — 900
RAC 28 36% 258 — [ — 900
RAC 28 36% 258 — [ — 900
U211 | 28 36% 258 900
RAC877 | 28 36% 258 900
RACBST | 28 36% 258 — [ — 900
AKRBH AC872 | 28 36% 458 900
RACB74 | 28 36% 258 900
RACB76 | 28 36% 258 900
U212 | 28 36% 258 900
RAC878 | 28 36% 258 900
[[RAC870 | 28 36% 258 900
RACB82 | 28 36% 258 900
RE=5RE RIS [_NU961 | 28 40% 458 050
RAC807 | 28 20% | RJK& B 385 458 —
5@ERX | Nuge2 | 28 40% 258 7.050
RACB06 | 28 |_40% k% BB 458 —
PR GIRER) =538 EEIEE S RAC 28 458 300
RAC 28 258 300
X1 RAC 28 258 300
RAC 28 258 300
SRR =EEXE SPHEGGREE)5E | RAC853 [ 28 458 20,600
BEX RACB54 | 28 258 20,600
FPHRGIRER) =K Fh#E (M) F | RACS61 | 28 458 15,700
RAC867 | 28 RIKA. 458 —
MAR®EE | RAC862[ 28 458 15,700
RACB68 | 28 A2 3 258 15,700
SRR (BRER) =IL KRR PHEGBER) % | RACs47|[ 28 A% i 458 15,700
A 28 R IKATEAL 458 —
BMRE=1KE BREE RAC 28 RIKATBER 458 —
RA 28 A%+ A8 258 200
EEREZ-1] EEES RAC! 28 458 350
RA 28 258 350
SRR 28 458 350
28 258 350
PR GIRE) =5 E PR GIRER) RAC889 | 28 40% 458 —
SHREFR 2AC880 | 28 40% 458 o o -
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BEEAR . 2012/5/12 -~
9/3-9 9/1 9/2
4 Fe | | B ‘ ‘
BALR| E&% 28| % &% EEE EEE
RRERCPE)=%#8GH) | HE@BH) H |_Nuo70 [ 55HF | 18,500 55% 19,600 19,500
NU078 | 558 &1 [ 19,500 52%  H:21,400 19,500 21,400
ARR (BT =4# (AT | KBrR(BAFE)H | _NU273 | 55HAI 12,800 63% 14,800 14,800
NU277 | 55H81 9,800 71% 11,800 11,800
NU279 | 55H®1 9,800 71% 11,800 11,800
HEE(RE) F [ NU270 | 55HAET 9,800 71% 11,800 11,800
NU274 | 55881 9,800 71% 11,800 11,800
NU0s4 | 5581 [ 12,800 63%  H:13,800 14,800 15,800
NU280 | 55H &1 [ 12,800 63%  H:13,800 14,800 15,800
FEESEEE ) FeEES NUO51 | 55H®I [ 15,100 45% H:14,100 15,100 14,100
NU053 | 5581 [ 12,700 54% % 1:14,700 14,700 12,700
NU057 | 558 &1 [ 11,300 59%  £:12,900 11,300 11,300
NUo61 | 55H&T [ 11,300 59% £:13,900, H:12,300 11,300 12,300
NU063 | 558 &1 [ 11,300 59% £:13,900, H:12,300 11,300 12,300
NU065 | 558 &1 | 11,800 57% £ H:12,700 11,800 12,700
s (BRE) F [ NUos0 | 55HFT 11,200 59% |£+:13,800, H:14,600 13,800 14,600
NU052 | 55H&1 [ 11,300 59%  |£:11,900. &£ H:11,800 11,800 11,800
NU054 | 558 &1 [ 11,300 59% £ +:11,900. H:12,900 11,900 12,900
NU056 | 558 &1 [ 11,300 59% £ +:11,900. H:12,900 11,900 12,900
NU060 | 558 &1 [ 13,100 52% % H:15,000 13,100 15,000
NU062 | 558 &1 [ 14,100 49% £ H:16,000 14,100 16,000
"R CFHA)=FR1E RRCPE)F [ Nuo7i | 55881 | 28,000 53% | £ 1:28,500 33,300 30,800
A% NU070 | 558 &1 [ 22,500 62% 22,500 22,500
NU078 | 558 &1 | 27.100 54% | H:28,400 27,100 28,400
RRER(CPHA) =& W CRE)F [ Nuo21 [ 558%I | 25,100 55% |2 1:29,100 32,100 28,600
NU023 | 558 &1 [ 22,300 60% & 1:23,400 22,300 22,300
EoOH NU022 | 55H®I | 23,200 58% H:26,200 24,500 28,000
KBy (B88E) =HR1iE KBr (BFE)$ [ NU083 | 55H@I [ 20,400 58%  |%£:23,200, £:21,300 23,300 22,400
AEH NU084 | 55H&1 [ 19,400 60%  H:22,200 21,400 24,200
KB (BdE) =25 KB (BHFE) F | NU095 [ 55H®I | 19,600 58% £ 1:22,100. 9/8-9.38ffi —— p—
EEH NU098 | 558 19,600 58% H:22,100, 9/8-9.i&f i i
Z2HE(hE) =RiE ZEE(FE) F[ Nu173 [ 55881 [ 22.800 57% 228,100, 9/3-7. &M 22,800 28,100
RiE% NU176 | 55881 | 22.800 57%  9/3-1 &M 22,800 28,800
L2HE (hE) =@ FH) (2= (PER)FE[ _NU251 | 55HFT [ 19.200 50%  £1:22,000 22,600 19,200
NU253 | 55881 [ 19,200 50%  #1:22,000 22,000 19,200
NU255 | 55881 [ 18,400 52% 18,400 18,400
NU257 | 55H8i1 9,800 75% 9,800 9,800
EERE) F [ NU252 | 55HAET 9,800 75% 9,800 9,800
NU254 | 55881 [ 18,400 52%  H:20,600 18,400 20,600
NU176 | 55881 [ 19,700 49%  9/3-71.5Ef 18,700 22,100
NU256 | 55H &1 | 20,100 48%  |£:20,600, £:18,200. H:22,500 18,200 22,500
NU258 | 55H&1 [ 20,100 48%  |£:20,600, £:18,200. H:22,500 18,200 22,500
ShiE (BRE) = /18 i (ARER) % | _NU601 | 5587 7,800 66% 7,800 7,800
NU603 | 55Hi 7,800 66% 7,800 7,800
NU605 | 558 &1 | 11,800 49% 11,800 11,800
NU609 | 55Hi 7,800 66% 7,800 7,800
NU613 | 55HI 7,800 66% 7,800 7,800
NU615 | 55H®I 7,800 66% 7,800 7,800
NU619 | 55H®I 7,800 66% 7,800 7,800
NU621 | 55HI 7,800 66% 7,800 7,800
NU625 | 55H®i 7,800 66% 7,800 7,800
Ria% NU070 | 55H®i 7,800 66% 7,800 7,800
NU604 | 55Hi 7,800 66% 7,800 7,800
NU606 | 55H i 7,800 66% 7,800 7,800
NU608 | 55Hi 7,700 67% 7,700 7,700
NU612 | 55HI 7,700 67% 7,700 7,700
NU614 | 558 &1 | 11,800 49% 11,800 11,800
NU176 | 558 &1 | 11,800 49%  9/3-71.5Ef 11,800 11,800
NU084 | 55H&1 [ 11,800 49% 11,800 11,800
NU620 | 558 &1 [ 11,900 48% 11,900 11,900
NU622 | 55H&T [ 11,900 48% 11,900 11,900
NU078 | 558 &1 [ 11,800 49% 11,800 11,800
NU628 | 55HiI 7,700 67% 7,700 7,700
HEAH) ==h shi8 (FRE) F | NU551 [ 55881 | 10,500 40% 10,500 10,500
RAC801 | 558 &1 | 10,500 40% 10,500 10,500
NU557 | 55881 [ 10,500 40% 10,500 10,500
NU559 | 55881 [ 10,500 40% 10,500 10,500
NU563 | 55H i 6,800 61% 6,800 6,800
NU567 | 55H®i1 6,800 61% 6,800 6,800
NU569 | 55H®i 6,800 61% 6,800 6,800
NU571 | 55H®1 6,800 61% 6,800 6,800
NU573 | 55H®i1 6,800 61% 6,800 6,800
EEH NU552 | 5588 10,500 40% 10,500 10,500
NU556 | 558 &1 | 10,500 40% 10,500 10,500
NU558 | 55H®i 6,800 61% 6,800 6,800
NU560 | 55H i 6,800 61% 6,800 6,800
NU564 | 558 &1 [ 10,500 40% 10,500 10,500
NU566 | 558 &1 | 10,500 40% 10,500 10,500
NU568 | 558 &1 | 10,500 40% 10,500 10,500
NU570 | 558 &1 [ 10,500 40% 10,500 10,500
NU572 | 55H®1 6,800 61% 6,800 6,800
RAC804 | 55H i 6,800 61% 6,800 6,800




[R——%{IEAR(9OA 108 ~9 A30BEES)

EEBAR . 2012/5/12
9/10-14, 18-21. 23-30 9/15 | 9/16 | 9/17 | 9/22
FH .
e B2 \maum| agam 500 % R | B | ERE | EEA
RERECHA) =% (BFH) | H#EGERFH | _NU070 | 55HHI | 16,500 60% 16,400 | 16,400 | 17,300 | 16,500
NU078 | 558 &1 | 17,500 57% | H:19,400 17,500 | 17.800 | — | 17,500
Khx (BE7R) =48 (B8 | APr(BEd)% | _Nu273 | 55HEI | 12,800 63% — [ 14,200 | 14,200 | 15,600
NU277 | 55881 | 9,800 71% 13,700 | 12,300 | 12,300 | 13,700
NU279 | 558 F1 | 9,800 71% 13,200 | 14.200 | 14,200 | 13,200
B (FRER) F | NU270 | 55HET | 9,800 71% 12,300 | 12,300 | 12,300 | 12,300
NU274 | 558 F1 | 9,800 71% 12,300 | 12,300 | 12,300 | 12,300
NU084 | 55HFi | 12,800 63% | H:13,800 16,100 | 17.000 [ — | 16,100
NU280 | 55EFi | 12,800 63% | H:13,800 16,600 | 17.100 | — | 16,600
2R =B () e NU051 [ 55HAI | 13,700 50% | H:12,700 — | 12,700 | 12,700 [ 13,700
NU053 | 55H®I | 11,300 59% | :13,700, H:11,700 12,300 | 11,700 | 11,700 | 12,300
NU057 | 5581 | 10,900 60% |2:11,500 10,900 | 10,900 | 10,900 | 10,900
NUO61 | 558 &1 | 10,900 60% | £:12,500, H:11,900 10,900 | 11,900 [ — | 10,900
NU063 | 55H &1 | 10,900 60% | £:12,500, H:11,900 10,900 | 11,900 [ — | 10,900
NU065 | 55H®I | 11,300 59% | H:11,700, X:11,200 10,900 | 11,700 | 11,700 | 10,900
s (FRER)F | _NU050 | 55HFT | 10,800 61% | +:12,400, H:13,200 — | 13,200 | 13,200 [ 12,400
NU052 | 55H®I | 10,900 60% |+ H:10,800 10,800 | 10,800 | 10,800 [ 10,800
NUO54 | 558 i | 10,900 60% 10,800 | 10,800 | 11,500 | 10,900
NU056 | 55 &1 | 10,900 60% 10,800 | 10,800 | 11,500 | 10,900
NU060 | 558 &1 | 11,700 57% |2 H:13,600 11,700 | 13,600 | 14,000 | 11,700
NU062 | 558 F1 | 12,700 54% |2 H:14,600 12,700 | 14,600 | 15,000 | 12,700
HRECHA)=FRE RRCHE) S | Nuo71 | 55HAT | 28,000 53% | % 1:28,500 — [ 28,000 | 26,600 | 28,500
nia% NUO70 | 558 F1 | 22,500 62% 21,900 | 21,900 | 25,000 | 22,500
NU078 | 55HTI_| 26,400 55% | H:27,200 26,200 | 26500 | — [ 26,400
HRCHA) =% WRCHE)% | _Nuo21 | 55881 | 25,100 55% |4 1:29,100 — | 27,400 | 27.400 [ 29,100
NU023 | 55HTI | 22,300 60% | & 1:23,400 —— | 23,800 | 22,900 | 23,400
B NU022 | 55HRI | 23,200 58% | H:26,200 23,000 [ 26200 | — [ 23.400
KB (BE7E) =FH1E KBr (BE7E) % [ Nuos3 [ 55H®I | 16,400 66%  |%:19,200, F:17,300 17,300 | 16,400 [ 16,400 | 17,300
aia%k NU084 | 55H ] | 15,400 68% | H:18,200 16,200 | 18200 | —— | 16,200
Kk (BdfE) ==& KBz (BFE) & | NU095 | 55HF1 | 19,600 58% & +:22,100 — | 19,600 | 19,600 [ 22,100
o NU098 | 55E ] | 19,600 58% | H:22,100 19,600 | 22100 [ — | 19,600
25 E (P =HiF LEECPE | NU173 | 558E1 | — — — — — —
RAiES NU176 | 55881 | — — — — — —
ZHE (FER) =i (BFH) |& G = (PE)F[ Nu251 | 55H7T | 18,200 53% |4 1:21,000 21,000 | 18,200 | 18,200 | 21,000
NU253 | 55H®I | 18,200 53% |2 +:21,000 21,000 | 18,200 | 18,200 | 21,000
NU255 | 55EF1 | 16,800 56% |2 1:17,200 17,200 | 16,800 | 16,800 | 17,200
NU257 | 558 F1 | 9,800 75% 9,800 | 9,800 | 9,800 | 9,800
h#8 (FRE) F | _NU252 | 55HBI | 9,800 75% 9,800 | 9,800 | 9,800 | 9,800
NU254 | 5581 | 17,700 54% | H:20,100 17,700 | 20,100 | 20,500 | 17,700

NU176 | 55881 | —- — — | — | — 1 —
NU256 | 55E18] | 19,600  49%  £:20,100, £:17,700, H:22.000 | 17,700 | 22,000 | 22500 | 17,700
NU258 | 55H18] | 19,600  49%  £:20,100, +:17,700, H:22,000 | 17,700 | 22,000 | 22,500 | 17,700

iR (BE) =R1E B (FRE) F | _Nue01 | 55H @1 | 7,800 66% 7,800 | 7,800 | 7,800 | 7,800
NU603 | 55 F1 | 7,800 66% 7,800 | 7.800 | 7,800 | 7.800
NU605 | 558 F1 | 11,800 49% 11,800 | 11,800 | 11,800 | 11,800
NU609 | 55EFi1 | 7,800 66% 7800 | 7.800 | 7,800 | 7.800
NU613 | 558 @1 | 7,800 66% 7,800 | 7.800 | 7,800 | 7,800
NU615 | 55881 | 7,800 66% 7,800 | 7.800 | 7,800 | 7,800
NU619 | 558 @] | 7,800 66% 7,800 | 7.800 | 7,800 | 7,800
NU621 | 558 @1 | 7.800 66% 7,800 | 7.800 | 7,800 | 7.800
NU625 | 558 @1 | 7,800 66% 7,800 | 7.800 | 7,800 | 7.800
nia% NUO70 | 558 /7 | 7.800 66% 7,800 | 7,800 | 7,800 | 7,800
NU604 | 55 F1 | 7,800 66% 7800 | 7.800 | 7,800 | 7,800
NU606 | 558 R | 7,800 66% 7800 | 7.800 | 7,800 | 7,800
NU608 | 558 &1 | 7,700 67% 7.700 | 7.700 [ 7,700 | 7,700
NU612 | 558 @1 | 7,700 67% 7.700 | 7.700 | 7,700 | 7.700
NU614 | 558 F1 | 11,800 49% 11,800 | 11,800 | 11,800 | 11,800
NU176 | 55881 | — — — — — —
NU084 | 55EFi | 11,800 49% 11,800 | 11,800 | 11,800 | 11,800
NU620 | 558 F1 | 11,900 48% 11,900 | 11,900 | 11,900 | 11,900
NU622 | 558 F1 | 11,900 48% 11,900 | 11,900 | 11,900 | 11,900
NU078 | 558 F1 | 11,800 49% 11,800 | 11,800 | 11,800 | 11,800
NU628 | 558 @1 | 7,700 67% 7.700 | 7.700 | 7,700 | 7.700
(BB ==& S (BRER) F |__NUS51 | 55HF1 | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
RAC801 | 55HAI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU557 | 55881 | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU559 | 5587 | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU563 | 55HEI | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU567 | 55B8I | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU569 | 55HEI | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU571 | 55H8I | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU573 | 55H8I | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
G NU552 | 55HEI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU556 | 55H &I | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU558 | 55HEI | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU560 | 55B &I | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800
NU564 | 55HEI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU566 | 55HBI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU568 | 55HEI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU570 | 55HEI | 10,500 40% 10,500 | 10,500 | 10,500 | 10,500
NU572 | 55HEI | 6,800 61% 6,800 | 6,800 | 6,800 | 6,800

RAC804 [ 55HFI | 6,800 61% 6,800 6,800 6,800 6,800




